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QUESTION 1

When is the GROUP BY ROLLUP clause used in an OLAP query?

A. All subtotals and grand totals are to be included in the output

B. Subtotals are only to be included in the output

C. Grand totals are only to be included in the output

D. Specific subtotals and grand totals for a combination of variables are only to be included in the output

Correct Answer: A

QUESTION 2

What describes the use of UNION clause in a SQL statement?

A. Operates on queries and potentially increases the number of rows

B. Operates on queries and potentially decreases the number of rows

C. Operates on tables and potentially decreases the number of columns

D. Operates on both tables and queries and potentially increases both the number of rows and columns

Correct Answer: A

QUESTION 3

You are studying the behavior of a population, and you are provided with multidimensional data at the individual level.
You have identified four specific individuals who are valuable to your study, and would like to find all users who are most

similar to each individual. Which algorithm is the most appropriate for this study?
A. K-means clustering

B. Linear regression

C. Association rules

D. Decision trees

Correct Answer: A

QUESTION 4
What is the mandatory Clause that must be included when using Window functions?

A. OVER
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B. RANK
C. PARTITION BY
D. RANK BY

Correct Answer: A

QUESTION 5

What describes a true limitation of a Logistic Regression method?
A. Does not handle missing values well

B. Does not handle redundant variables well

C. Does not handle correlated variables well

D. Does not have explanatory values

Correct Answer: A
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